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QUESTION 1

Number of new cases per population at risk in a given time period is a definition of which of the following?

A. Incidence rate

B. Prevalence rate

C. Mortality rate

D. Odds ratio

E. Confidence Interval

Correct Answer: A

Incidence rate = New reported cases / summed person-years of observation (avg population during time interval).
Prevalence = Cases in a population in a given time period / total population at that time Mortality rate = deaths during

specified time interval / population size at risk for death.

Reference: https://www.cdc.gov/ophss/csels/dsepd/ss1978/lesson3/section2.html

QUESTION 2

An order is received to start Milrinone at 0.75mcg/kg/min, Milrinone comes as 20mg/100ml D5W. What is the infusion
rate in mL/hr? Patient weighs 115kg.

A. 86 mis/hr
B. 13 mis/hr
C. 25.9 mis/hr
D. 43 mis/hr
E. 7 mis/hr

Correct Answer: C

QUESTION 3

What is the best anti-thyroid regimen in a pregnant woman who has clinically significant hyperthyroidism?
A. Stop treatment and resume post-partum

B. Propylthiouracil

C. Methimazole
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D. Propylthiouracil first trimester followed by methimazole for the remainder of pregnancy
E. Methimazole first trimester followed by propylthiouracil for the remainder of pregnancy
Correct Answer: D

Propylthiouracil (PTU) is recommended for treatment of hyperthyroidism in women who are in their first trimester of
pregnancy by the American Thyroid Association (ATA). Methimazole has been associated with congenital
malformations including aplasia cutis in rare cases and thus it is not recommended in the first trimester. The ATA
recommends switching to methimazole once in the second trimester as there is a risk of liver injury associated with the
use of PTU.

QUESTION 4

A 50-year-old female has been receiving a diuretic for the treatment of essential hypertension. This drug acts by
increasing the calcium content of urine and is the drug of choice for reducing acute pulmonary edema in congestive
heart failure. Its side effects include ototoxicity and hyperuricemia. What is the most likely mechanism of action of this
drug?

A. Aldosterone receptor antagonist

B. Inhibition of the Na/K/2Cl cotransporter
C. Inhibition of carbonic anhydrase

D. Acts as osmotic diuretic

E. Blocking of the NACL cotransporter
Correct Answer: B

B: Loop diuretics inhibit the Na/K/2Cl cotransporter of the luminal membrane in the ascending limb of the loop of Henle.
Therefore, reabsorption of Na, K, and CL is decreased. The loop diuretics are the most efficacious of the diuretic drugs
because the ascending limb accounts for the reabsorption of 25-30 % of filtered NaCl and downstream sites are not
able to compensate for this increased Na load. Loop diuretics are the drugs of choice for reducing acute pulmonary
edema in congestive heart failure. Loop diuretics act promptly, even among patients who have poor function or who
have not responded to thiazides or other diuretics. Adverse side effects include ototoxicity, particularly when used in
conjunction with the aminoglycoside antibiotics. Furosemide and ethacrynic acid compete with uric acid for the renal and
biliary secretary system, thus blocking its secretion, and thereby causing or exacerbating gouty attacks. A: Aldosterone
receptor antagonist is incorrect. Spironolactone is a synthetic aldosterone antagonist that competes with aldosterone for
intracellular cytoplasmic receptor sites. Because spironolactone chemically resembles some of the sex steroids, it does
have minimal hormonal activity and may induce gynecomastia in males and menstrual irregularities in females. C:
Inhibition of carbonic anhydrase is incorrect. Acetazolamide inhibits carbonic anhydrase, which is located intracellulary
and on the apical membrane of the proximal tubular epithelium. The decreased ability to exchange NA for H in the
presence of acetazolamide results in a mild diuresis. The adverse side effects of acetazolamide include metabolic
acidosis (mild), potassium depletion, renal stone formation, drowsiness, and paresthesia. D: Acts as osmotic diuretic is
incorrect. A number of simple, hydrophilic, chemical substances that are filtered through the glomerulus, such as
mannitol and urea, result in some degree of diuresis. This is due to their ability to carry water with them into tubular fluid.
Osmotic diuretics are a mainstay of treatment for patients with increased intracranial pressure or acute renal failure due
to shock, drug toxicities, or trauma. E: Blocking of the NaCl cotransporter is incorrect. The thiazide derivatives act
mainly in the distal tubule to decrease the reabsorption of Na by inhibition of an Na/Cl cotransporter on the luminal
membrane. As a result, these drugs increase the concentration of NA and CL in the tubular fluid. Hypokalemia is the
most frequent problem encountered with the thiazide diuretics and can predispose patients on digitalis to ventricular
arrhythmias. Thiazides increase serum uric acid by decreasing the amount of acid excreted by the organic acid
secretory system. The thiazides inhibit the secretion of calcium, sometimes leading to elevated levels of Ca in the
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blood.

QUESTION 5

Which of the following NSAIDs is an Enolic acid derivative?

A. Ibuprofen

B. Piroxicam

C. Naproxen

D. Oxaprozin

E. Fenoprofen

Correct Answer: B

The following NSAIDs belong to the propionic acid derivatives group - Ibuprofen - Ketoprofen - Naproxen -Fenoprofen -
Flurbiprofen - Oxaprozin whereas piroxicam belongs to the class of Enolic acid derivative which also includes other

agents like meloxicam and Nabumetone. They are non-selective COX inhibitors and act by preventing the production of
certain prostaglandins.
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